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> FEH 18.84cm

(25)=(5t2 T )x2 x 3.14
=3%x2x3.14 = 18.84(cm)
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> HEH 69.08cm

11 x 2% 3.14 = 69.08( cm)
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@ A& 2.3cm

® A& 12.56 + 3.14 = 4(cm)
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= 12.56( cm?)
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(9x9x3.14) x 7 = 63.585( cm?)
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(Ft2]8)=12.56 + 3.14 + 2 = 2cm
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(AHAA B 2] S99 do])
= 80 x 3.14 = 251.2( cm)
(HgZ 2 ¥ 8 of 7 Ae)
= 251.2 x 2.5 = 628( cm)
(HEE 89he )= 12560 + 628 = 20( H)
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AXAX3.14 =785
AXA=T785+3.14
AXA =25
A =5(cm)

(A59] Zol)=5x2=10(cm)
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(o] Hel) + (2] Wol)
:6><6><3.14><%+4.5><4.5><3.14x%

= 56.52 4 31.7925 = 88.3125( cm?)

(7Fe] Wol) = 7.5 x 7.5 x 3.14 x % = 88.3125(cm)
whebA] (o] Wol) + (the] |el) = (712 |Wol) 4yt
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0x014=7
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> HE 98.24cm

491 3329 Zol9] e 9 1719 9Fe} ooz

=48 +50.24
= 98.24(cm)
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(HrA]2)x2 x 3.14 = 69.08

(HF2]5)x6.28 = 69.08
(9F2] )= 69.08 = 6.28
(S 5)= 11(cm)

2ol gol 1 11 x 11 x 3.14 = 379.94( cm?)
JArZYE o W olZo] & 36.4 +4 = 9.1(cm)
JArZYE 2] o] & 9.1 x 9.1 = 82.81(cm?)
(¥ wol)-(HAAZ 9 Hol)

= 379.94 — 82.81 = 297.13(cm?)
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47.1 +3.14 = 15(cm)
15+2="7.5(cm)
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(290 9%) + (L 9o 4%)
12x3.14 +4x3.14

= 37.68 + 12.56 = 50.24( cm)
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188.4 + 3.14 = 60( m)
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> Hg: 94.2cm

(AE°] 10cm® D)+ (AE°] 5ecmel Y)+(AE°] 15cmel YD)
= (10x 3.14) + (5 x 3.14) + (15 x 3.14)
=314+ 15.7 + 47.1 = 94.2(cm)
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& HH =9 A=

(HFA] S )x2 x 3.14 = 45 x 2 x 3.14 = 282.6( cm)
o|BE sHH =7 A=

282.6 x 5 = 1413(cm) @Y},




